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RIER D B IRREERE

BA3—2 BEMICERTIEEESNIERICETHEE1/2) IEEEEN 20231
SO E | Bmas | Z02BN5157 | iR | T | PN A R A
- SERMOTIRICHEET 514 SER A
Al TREOBHOESEHDKRES TREDOHBEHIEADKRES TREOBHOESEHDKRES TREOHBEESENDRES
&2 N B | THROLOERE [ AOKEE | o, | TRELOKE | BE | DOREE Z 5 B [ IRAODORES [ AOKREE | o . | LRALOES | Be | DOKEE
(m) (m) (kN/m) EEHE(m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
: 100kN/mM%#B % % - -~ - —|3mZiEZ D -~ - - — | 100kN/MZ#EZ % - -~ - —|3mZE#B2D -~ - - -
Zhllis 1.00( 0.00 ~ 473 58.96 | £hkist | 0.00 ~ 0.00| 1.66 8.37 Zhls 1.00 | 500 ~ 5.00 5896 | #nklst | 5.00 ~ 5.00 | 1.66 8.37
) 100kN/M%Z#B % % - -~ - —|3mZEZ D -~ - - —| 100kN/mM%E#EZ % - -~ - —|3mZE#BZD -~ - - -
Fh st 1.00| 000 ~ 6.11 76.58 | F4llst | 000 ~ 0.00 | 1.61 8.14 FnLs 1.00] 500 ~ 7.40 76.58 | F#LLlst | 5.00 ~ 7.40 | 1.61 8.14
5 100kN/mMZ#2Z % - -~ - —[3mEHEZS -~ — - — | 100kN/ MZ#BZ % - -~ — —|3mE#EZS -~ - - .
ZhLst 1.00| 000 ~ 6.09 76.38 | =+list | 000 ~ 000 | 1.78 8.98 ZhList 1.00] 500 ~ 7.00 76.38 | FHllst | 500 ~ 7.00 | 1.78 8.98
4 100kN/M%ZH#EZ % - - ~ - —|3mZEHEZS -~ — — —| 100kN/ M%#8Z% % - -~ — —|3mZEBZ5 -~ — — —
Zh s 1.00( 0.00 ~ 6.09 76.38 | Z4LList | 000 ~ 000 | 1.78 8.98 ZFhLis 1.00| 500 ~ 7.00 76.38 | FHhlist | 500 ~ 7.00 | 1.78 8.98
5 100kN/mM%Z#B % % - -~ - —|3mZiBZ D -~ - - —| 100kN/mM%Ei#BZ % - -~ - —|3mZE#BZD -~ - - -
Zhrst 1.00| 000 ~ 573 7158 | #hkist | 000 ~ 573 | 1.99 10.04 ZhLst 1.00] 500 ~ 7.20 7158 | #xlklst | 500 ~ 7.20 | 1.99 10.04
6 100kN/MZ#8 %% - - ~ - —[3mE#EZS - ~ - - — | 100kN/ MZ#BZ % - -~ - —|3mE#EZS -~ - - .
ZhLs - -~ — —| FhList -~ = — — Zhlist - -~ — —| FhList -~ — — -
. 100kN/M%ZH#E2 % - -~ - —|3mZEEZ S -~ — — —| 100kN/M%#E 2% - -~ — —|3mEHEZS -~ - - -
Zh st - — ~ - —| Fhiist -~ — — - FhLst — -~ - —| EhList - ~ - - =
8 100kN/mM%Z#B % % - -~ - —|3mZEZD -~ - - —| 100kN/mM%E#E 2% - -~ - —|3mZE#BZD -~ - - -
ZhLis 1.00| 0.00 ~ 6.49 81.75 | #xkist | 000 ~ 6.49 | 1.88 9.50 ZhLst 1.00 ] 500 ~ 8.00 81.75 | #hLlst | 500 ~ 800 | 1.88 9.50
9 100kN/mM%E#BZ % 1.00| 000 ~ 0.38 105.58 |3mZ 25 -~ — — —| 100kN/m%#E%%| 1.00 |10.96 ~ 12.00 105.58 |3m%E#E %5 -~ - — .
Zh s 1.00| 038 ~ 8.16 100.00 | #hlist | 000 ~ 8.16 | 2.34 11.83 ZFhLlst 1.00 ] 500 ~ 10.96 100.00 | ##klst | 5.00 ~ 12.00 | 2.34 11.83
10 100kN/mM%E#EZ % 1.00| 000 ~ 087 113.06 |3m%Ei#EZ % -~ — — — | 100kN/m#%# %% | 1.00 |10.66 ~ 13.20 113.06 |3mZE#EZ 3 -~ - - .
Zh s 1.00 ( 0.87 ~ 8.66 100.00 | #htbist | 000 ~ 866 | 2.27 11.47 zhlls 1.00 | 500 ~ 10.66 100.00 | ZhLlst | 500 ~ 13.20 | 2.27 11.47
» 100kN/M%Z#B % % - -~ - —|3m%E#BZ D -~ — - —| 100kN/ m%#8% % - -~ - —|3mEBZD -~ — - -
ZhList 1.00( 0.00 ~ 554 69.12 | #hList | 000 ~ 554 | 1.83 9.24 Zhlst 1.00 | 5.00 ~ 6.20 69.12 | #hnLklst | 5.00 ~ 6.20 | 1.83 9.24
12 100kN/mM%E#BZ % 1.00| 000 ~ 042 106.14 |3mZ {25 -~ — — —| 100kN/m%#E%%| 1.00 |10.71 ~ 11.94 106.14 |3m%E#E %5 -~ — — .
Zh st 1.00| 042 ~ 820 100.00 | #hblist | 000 ~ 8.20| 2.10 10.60 FhLst 1.00] 500 ~ 10.71 100.00 | #Hxklst | 5.00 ~ 11.94 ] 2.10 10.60
13 100kN/mM%E#EZ % 1.00| 000 ~ 1.12 116.82 |3m%Ei#EZ % -~ — — — | 100kN/m%i#8x%| 1.00 |10.53 ~ 14.03 116.82 |3mE#E 25 -~ - - -
Zhis 1.00 112 ~ 890 100.00 | #hbList | 000 ~ 890 | 2.17 10.97 Zhlis 1.00 | 500 ~ 10.53 100.00 | #hxkist | 5.00 ~ 1403 | 2.17 10.97
" 100kN/mM%Z#B 2 % - -~ - —|3m%EHBZ 3 -~ — - —| 100kN/m%#B% % - -~ - —|3mZE#BZD -~ — - -
ZhnList 1.00( 0.00 ~ 545 67.99 | #HLkist | 000 ~ 0.00| 1.61 8.16 Fhlis 1.00 | 500 ~ 6.20 67.99 | FxList | 5.00 ~ 6.20 | 1.61 8.16
05 100kN/ Mm% %% - -~ — —[3mEHEZS -~ — — — | 100kN/ MZ#BZ % - -~ — —|3mEEZD -~ - - -
Zh s 1.00| 000 ~ 7.31 93.18 | #hlist | 000 ~ 731 | 244 12.31 ZhLsh 1.00 ] 500 ~ 10.40 93.18 | FhList | 500 ~ 1040 | 2.44 12&




RIER D B IRREERE

BA3—2 BEMICERTIEEESNIERICETHEE(2/2) REEE | 20231
SO E | Bmas | Z02BN5157 iR | T | PN A R A
- SERMOTIRICHEET 514 SER A
Al TRZFOBHOEEEADKRES TEREDHBEHIEADKRES TREOBHOEEENDKRES TREOHBEESENDRES
5 X 4 ‘e | MWD LOERE | ADKES X 4 TwALOKF [ B | AOKES X 4 Be | LmDLOES | NOREE X 4 IRACOES [ & | hORES
(m) (m) (kN/m) EEHE(m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
16 100kN/mM%Z#B 2 % - -~ - —|3mZiEZ D -~ - - — | 100kN/MZ#EZ % - -~ - —|3mZE#B2D -~ - - -
Fhiist 100 | 000 ~ 731 9318 | #htist | 000 ~ 731 197 9.98 Fhilst 100 | 500 ~ 10.40 93.18 | #hList | 500 ~ 1040 | 1.97 9.98
17 100kN/ Mm% 2% 1.00( 0.00 ~ 123 118.64 |3m%Ei#BZ 3% — ~ - - —| 100kN/m%#8%%| 1.00 |10.53 ~ 14.48 118.64 |3mE#BZ 5 -~ - - -
Zhiist 1.00| 123 ~ 9.02 100.00 | ##4Llst | 000 ~ 000 | 1.76 8.89 Zhilst 1.00 | 500 ~ 1053 100.00 | #hbList | 500 ~ 1448 | 1.76 8.89
" 100kN/mZ#%%| 1.00(| 000 ~ 192 129.59 |3mZE# x5 -~ - - — | 100kN/i%i#8%% | 1.00 |10.66 ~ 18.47 129.59 |3mZz#H#B x5 -~ - - .
Zh st 100 1.92 ~ 970 100.00 | #4LLlst | 000 ~ 9.70 [ 2.11 10.66 Zhiist 100 | 500 ~ 10.66 100.00 | #hLlst | 5.00 ~ 1847 | 2.11 10.66
19 100kN/M%ZH#EZ % - - ~ - —|3mZEHEZS -~ — — —| 100kN/M%i#8Z% % - -~ — —|3mEEZS -~ — — —
Zhlisn 1.00| 000 ~ 7.32 9325 | #hList | 000 ~ 7.32| 195 9.86 Zhilst 100 | 500 ~ 10.20 9325 | #hbllst | 500 ~ 1020 | 1.95 9.86
20 100kN/M%Z#B % % - -~ - —|3mZiBZ D -~ - - —| 100kN/mM%Ei#BZ % - -~ - —|3mZE#BZD -~ - - -
Zhrst - - ~ - —| Fhst - ~ - - - ZhLst — - ~ - —| £hllst - ~ - - -
9y 100kN/m#Z# %% - -~ - —|3mEHEZ 5 - ~ - - —| 100kN/i%#8% % - -~ - —|3mE#EZS -~ - - .
Zh st 100 000 ~ 473 5893 | #hList | 000 ~ 000 | 1.65 8.36 Zhilst 1.00 | 500 ~ 5.00 5893 | #hLlst | 500 ~ 500 1.65 8.36
2 100kN/M%Z#E2 % - -~ - —|3mZEEZ S -~ — — —| 100kN/M%#E 2% - -~ — —|3mEHEZS -~ - - -
Zhlisn 1.00 [ 0.00 ~ 7.06 89.66 | #hLlst | 000 ~ 7.06 | 193 9.76 Zhrlst 1.00 | 500 ~ 10.18 89.66 | #HLlst | 500 ~ 10.18 | 1.93 9.76
23 100kN/m%#B %% 1.00 [ 0.00 ~ 046 106.83 |3m%EHE 25 _~ . - —| 100kN/m%#8%%| 1.00 |11.00 ~ 12.48 106.83 [3m%E#EZ 5 -~ - - -
Zhiist 1.00| 046 ~ 825 100.00 | #hklst | 000 ~ 825 2.05 10.36 Fhllst 1.00 | 500 ~ 11.00 100.00 | #hLlst | 500 ~ 1248 | 2.05 10.36
" 100kN/mZ#%%| 100 000 ~ 095 114.23 |3m%#EZ5 -~ - - —| 100kN/MiZ#%%| 1.00 [11.07 ~ 1451 114.23 |3mZ#BZ5 -~ - - -
Zhiisn 100 095 ~ 873 100.00 | #4hklst | 000 ~ 873 | 2.04 10.31 Zhilst 100 | 500 ~ 11.07 100.00 | FhLlst | 5.00 ~ 1451 | 2.04 10.31
25 100kN/m%#%%| 1.00(| 000 ~ 004 100.52 |3mZE#E x5 -~ - - —| 100kN/MiZ#%%| 1.00 |10.90 ~ 11.00 10052 [3m%E#Z 5 -~ - - -
ZhiList 100 [ 004 ~ 782 100.00 | #4klst | 000 ~ 782 | 2.06 10.43 ZhList 1.00 | 500 ~ 10.90 100.00 | #4.L14t | 500 ~ 11.00 | 2.06 10.43
26 100kN/M%Z#BZ % - -~ - —|3m%E#BZ D -~ — - —| 100kN/M%#8% % - -~ - —|3mEBZD -~ — - -
ZhLust 1.00 ( 0.00 ~ 748 95.59 | #xllst | 000 ~ 000 | 1.71 8.62 Zhlst 1.00 | 500 ~ 9.89 9559 | F#LList | 5.00 ~ 9.89 | 1.71 8.62
97 100kN/mMZ#2 %% - -~ - —[3mEIEZS - ~ - - —| 100kN/ % #8% % - -~ - —|3mZEEZS -~ - - =
ZhList 100 | 000 ~ 761 9751 | #hbist | 000 ~ 761 | 2.02 10.23 ZhLst 100 | 500 ~ 10.71 9751 | Fhbist | 500 ~ 1071 | 2.02 10.23
28 100kN/m%#%x%| 1.00| 000 ~ 009 101.26 |3mZ#E x5 -~ - - — | 100kN/ %% % | 1.00 |10.55 ~ 10.78 101.26 |3mE#EZ 5 -~ - - =
ZhLst 100 009 ~ 787 100.00 | Zhbist | 000 ~ 787 | 2.15 10.89 Fhllst 100 | 500 ~ 1055 100.00 | #hbList | 500 ~ 10.78 | 2.15 10.89
29 100kN/mM%Z#B 2 % - -~ - —|3m%EHBZ 3 -~ — - —| 100kN/m%#8% % - -~ - —|3mZE#BZD -~ — — —
Zhisn 1.00 [ 0.00 ~ 6.09 76.38 | #hlist | 000 ~ 000 1.78 8.98 Zhrst 100 | 500 ~ 7.00 76.38 | #hList | 500 ~ 700 1.78 8.98
20 100kN/ Mm% %% - -~ — —[3mEHEZS -~ — — — | 100kN/ M Z#BZ % - -~ — —|3mEEZD -~ - - -
Zh st 1.00 | 000 ~ 464 5787 | #hbllst | 000 ~ 464 | 1.86 9.38 Zhils 1.00 | 500 ~ 5.00 5787 | #hblist | 500 ~ 500 | 1.86 9.38 |




